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QUESTION 1

Which technique best explains the use of the grained policies and network to enable security inside the data center?
A. Micro-division

B. Bifurcation

C. Dissection

D. Micro-segmentation

Correct Answer: D

QUESTION 2

Which domain does vSphere/ESXi virtualize for the Software-Defined Data Center (SDDC)?
A. Applications

B. Storage

C. Compute

D. Network

Correct Answer: B

QUESTION 3

Which setback is NOT related to the hardware-centric legacy of networking?
A. Unpredicted downtime occurrences.

B. Insufficient and weak perimeter security.

C. Increased capital and operational costs.

D. Complexity in service deployment.

Correct Answer: B

QUESTION 4

Which component of NSX logical firewall, offers by the NSX Edge Services Gateway (ESG), focuses on North-South
traffic enforcement at the data center perimeter or tenant perimeter?

A. Distributed firewall
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B. Centralized NSX Edge firewall
C. NSX controller cluster
D. Distributed logical router

Correct Answer: A

QUESTION 5

An administrator decides to implement logical switching to establish connectivity between virtual machines that reside
on the same host Which layer is used by logical switching to provide this connectivity?

A. Layer 4
B. Layer 5
C. Layer 3
D. Layer 2

Correct Answer: D
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